
Vereinfachen von Produkten und Quotienten: 
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Potenzen und Wurzeln: 
1) a) (2a)7 = 128a7     b) (–2a)7 = –128a7     c) (–0,5)3 = –0,125     d) 210 = 1024     e) (2a2)3 = 8a6 
f) (–2a2)3 = –8a6     g) 0,110 = 0,000 000 000 1     h) (–2)6 = 64     i) (–2)6 = 64     k) a10     l) (–a)10 = a10 
m) (–a)10 = a10     n) (2x)3∙(2x)2 = (2x)5 = 32x5     o) (4xy)2 = 16x2y2     p) 9a2∙(–5a2) = –45a4 
q) –27a3∙5a3 = –135a6 
 
2) a) a2     b) 2a     c) b4     d) 2b2     e) x3     f) (so) nicht zu vereinfachen     g) x8     h) 2x4     i) 6a2b3 
k) (so) nicht zu vereinfachen     l) 12a3b     m) –10x3y3 
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     f) 10n+1 = 10∙10n  

4) a) 12x5     b) –16x5y3     c) 9x6y2     d) 
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5) a) (x – y)2     b) a – b     c) a2     d) –(a – b) = b – a 
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7) a)  1,8     b) 7,6     c) 15     d) 123     e) –4,2     f) –7,8     g) 7,82     h) –7,8     i) |a|     j) |a|     k) |x| 
     l) –|x|     m) –|u|     n) –u (da u0 !)    o) u     p) u2 
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    k) |2x – 1|     l) |1 – 2x|  (= |2x – 1|) 


